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ROUND2-G1
NEAZ £ il BT & ¥4 TEC _ ATH Total
1 [k R (AR 0) 30 =¥ 17.92 7.68 25. 60
2 & WE ON) 8 JNANLT 7 17.50 7.50 25. 00
3 [BEH FAE (I B) 24 A v ay 17.08 17.08 24. 16
4 |FHRE #H (HA) 30 =¥ 16.66 7.08 23.74
5 |MkS Bz (Hi24) 68 =— AR 16.52 6.84 23. 36
6 |k O (k) 8 I NN Ty 15.68 6.54 22. 22
TO|EHE B ([ (Lr) 68 =—/3A R 14.56 6.12 20. 68
8 |HH EHX (& ) 8 JIWNT 7 14.14 6.00 20. 14
ROUND2-G2
NEAE 4 Hi il ¥4 TEC _ ATH Total
1 [FRE F (LEB) 8 VT 5 17.64 7.50 25. 14
2 |EE EBA (HF (i) 68 =— XA R 17.08 7.62 24. 70
S [ IS S () 30 = E 17.22 7.44 24. 66
4 PEE EE (FRZ=)11) 68 =—/ %A K 16.52 6.96 23. 48
5 =R FEA (=E) 68 =— XA R 15.40 6.42 21.82
6 |04 (hi#R) 6 E—H 15.12 6.48 21. 60
T Bk (Z5n) 68 =— %A K 15.12  6.42 21.54
8 it LtifE (M) 30 = 14.56 6. 18 20. 74
ROUND2-G3
NEAZ 4 Hi BT & ¥4 TEC __ ATH Total
L lem wm (FLJi) 68 =— %A 7K 18.20 7.80 26. 00
2 |FEH RSTE UN=) 1 7—vxr7— 16.52 7.14 23. 66
3R ER () 8 I NN Ty 16.38 17.02 23. 40
4 Pet e (LER) 8 JIWNT 7 15.96 6.78 22.74
5 |EAMT (EE IR 5 8 JINT 7 15.82 6.78 22. 60
6 |HFo5656 (% [) 68 =—/3A R 15.40 6.60 22. 00
TET mE (ZK5) 8 ZIWNT 7 14.98 6.42 21. 40
8 |FEAE ALA (FEFS) 30 = E 14.70 6.24 20. 94
ROUND2-G4
JEAE 4 Hi il ¥4 TEC  ATH Total
1 |[RE T (T%8) 8 VNN Ty 17.50 7.56 25. 06
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2 | A (KBR) 8 T 7 17.36 7.44 24. 80
3[R A& (T8 24 U wvay 16.38 6.90 23. 28
4 |=EpE LT (FRZ)1) 68 =— %A K 15.96  6.90 22. 86
5 |AEH  #RER (=H) 30 = 15.96 6.78 22.74
6 |EE I (& ) 30 = E 15.68 6.66 22. 34
7 lEE F (#E) 24 Hrryvay 15.26  6.60 21. 86
8 |HMW EX (REA) 68 =— XA R 15.12 6.42 21. 54
ROUND2-G5
NEAZ 4 Hi BT & ¥4 TEC _ ATH Total
1 [iA X (RERS) 8 JIWNT 7 17.64 7.56 25. 20
2 |EH i (K4 68 =— %A 7K 16.24 7.02 23. 26
3 |iA EE (FHE) 30 = 16.24 6.96 23. 20
4 |HiED Y ps (KBR) 68 =—/3A R 16.10 6.72 22. 82
5 [EiE A (I B) 68 =—/ XA K 14.56 6. 12 20. 68
6 |ARED EE (FhZ=)10) 30 =¥ 14.14 6.12 20. 26
(A SU/NEE (REA) 68 =—/3A R 14.00 5.88 19. 88
8 P& LA (e I) 30 =¥ 13.72 5.88 19. 60
ROUND2-G6
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1 | EEY D (HH) 8 VNN Ty 18.20 7.62 25. 82
2 |ZHEXE (T%8) 24 I wvay 17.64 17.56 25. 20
3 [ MER (JTJ) 68 =— %A K 17.50 7.50 25. 00
4 |MR EH (Z50) 68 =— XA R 16.66 7.20 23. 86
5 |rA WlE N =) 68 =— XA R 15.68 6.54 22. 22
6 [rE K3 () 68 =—/3A R 15.54 6.60 22. 14
TOIRE AW (B0%) 8 VLT 5 14.98 6.30 21.28
8 |*FH £H (hi#R) 68 =— XA R 14.00 6.18 20. 18
ROUND2-G7
NEAZ 4 Hi BT & ¥4 TEC _ ATH Total
L[5 RAE (AkifgiE) 30 =¥ 17.36 7.38 24.74
2 | FEEHIAR (thrm) 68 =— AR 17.08 7.14 24. 22
3 (R HETY (fE3H) 24 U wvay 16.80 7.26 24. 06
4 |HRI BEE (LEB) 8 I NN T 7 16.38 6.84 23. 22
5 | B (i) 8 JIWNT 7 15.26  6.42 21. 68
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6 (B FEHR (g &) 30 = 15.12 6.48 21. 60
T A i (i) 68 =— XA R 14.56  6.30 20. 86
8 |hEr Ak () 68 =— XA R 13.44 5.82 19. 26
ROUND2-G8
NEAZ 4 Hi BT & ¥4 TEC _ ATH Total
1 PR R (T%8) 8 I NN T 7 18.06 7.56 25. 62
2 |FH () 8 JIWNT 7 17.22 7.20 24. 42
3 || Rk (Ju ) 8 JIWNT 7 16.80 7.26 24. 06
4 |HNE EH (FRZ2)10) 68 =— AR 16.38 7.02 23. 40
SO [ TG 5 (HF#%) 30 =K 16.24 6.78 23. 02
6 |E=H BEY (KB 68 =—/ XA K 15.96 6.78 22. 74
T OB ER (FHR) 68 =—/3A R 15.40 6.72 22. 12
8 |/hEF (RERS) 24 U wvay 15.40 6.60 22. 00




